Math 109   Practice for Quiz 4  
 Section 1. 6

1.   Solve this equation.    2x-3=7-5x         10/7 
2.   Solve this equation for the variable n.    R=B+nt 
                                             n = (R-B)/t

3.   Solve this equation:      (3k-1( = 8               3  or   -7/3

Section 1.7
 Solve the following equations:

1.   (x+2)(3x-5)=0     -2 and 5/3     
            You do not need to use the quadratic formula.

2.   (2y-1)2 = 7  
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   You do not need to use the quadratic formula.
3.   3n2 – 7n +1 = 0 
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       Use the quadratic formula.
4.  If the discriminant equals zero for a quadratic equation, what can you say about the number of solutions to the equation?        There is exactly one solution.
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